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Question Id : 92090615996 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

TOI's Tiger Anthem celebrates the ‘higgest superstars’ of India

A mother with her child, lilting music, and a message that celebrates a
milestone. India’s first tiger anthema — a song and a short film on a tigress and her
cub-composed and created as a part of Time of India’s #savingourstripes imtiative,
was launched by Union environment minister Bhupender Yadav on Wednesday. TOT's
initiative marks the golden jubilee of project tiger.

Shantanu Moitra, music director of films like “3 Idiots” and “Parineeta”,
composed the song. “Usually, I compose songs for Bollywood superstars, but after
working on this anthem, [ have realized that the tiger is the biggest superstar,” he
said. Acclaimed wildlife filmmaker S Nallamuthu shot the visuals, and poet/lyricist
Tanveer Ghazi penned the words.

The short film celebrates the bond between a tigress and her cub. The target
audience for the foot-tapping song is today’s children, who will have to carry forward
the spirit that made project Tiger a world-class success.

Launching the anthem, Yadav praised it for focusing on the simple joys of nature
and for reminding humans that animals aren’t greedy.

Sub questions

Question Number : 1 Question Id : 92090615997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option does not mean ‘Lift"?

(1) A gentel rhythm in a tune.
(2) A cheerful tune.
(3)  The detachable frong part of a gun carriage.

(4) A characteristic rising and salling of the voice.

Options :

92090663201. 1
92090663202. 2
92090663203. 3
92090663204. 4



Question Number : 2 Question Id : 92090615998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement | : TOTI's initiative marks the silver jubilee of project Tiger.

Statement 11 . Aecclaimed wildlife filmmaker S. Nallamuthu shot the visuals.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement 1 is incorrect but Statement I1 is correct

Options :

92090663205. 1
92090663206. 2
92090663207. 3
92090663208. 4

Question Number : 3 Question Id : 92090615999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the music director of the films “3 Idiots” and “Parineeta”™?

(1) Shantanu (2) S. Nallanuthu
(3) Bhupender Yadav {(4) Tanveer Ghazi
Options :

92090663209. 1
92090663210. 2
92090663211. 3
92090663212. 4

Question Number : 4 Question Id : 92090616000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the meaning of the term ‘acclaim™

(1)  Praise enthusiastically and publicly
(2) Claim again
(3) Accentuate
(4) Accentor
Options :
92090663213. 1
92090663214. 2

92090663215. 3
92090663216. 4

Question Number : S Question Id : 92090616001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which union minister was present in the TOI's tiger Anthem ceremony?

(1) Minister of finance (2) Minister of home affairs
(3 Minister of children welfare (4) Minister of environment
Options :

92090663217. 1
92090663218. 2
92090663219. 3
92090663220. 4

Question Id : 92090615996 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



TOI's Tiger Anthem celebrates the ‘higgest superstars’ of India

A mother with her child, lilting music, and a message that celebrates a
milestone. India’s first tiger anthema — a song and a short film on a tigress and her
cub-composed and created as a part of Time of India’s #savingourstripes imitiative,
was launched by Union environment minister Bhupender Yadav on Wednesday. TOT's
initiative marks the golden jubilee of project tiger.

Shantanu Moitra, music director of films like “3 Idiots” and “Parineeta”,
composed the song. “Usually, I compose songs for Bollywood superstars, but after
working on this anthem, [ have realized that the tiger is the biggest superstar,” he
said. Acclaimed wildlife filmmaker S Nallamuthu shot the visuals, and poet/lyricist
Tanveer Ghazi penned the words.

The short film celebrates the bond between a tigress and her cub. The target
audience for the foot-tapping song is today’s children, who will have to carry forward
the spirit that made project Tiger a world-class success.

Launching the anthem, Yadav praised it for focusing on the simple joys of nature
and for reminding humans that animals aren’t greedy.

Sub questions

Question Number : 1 Question Id : 92090615997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option does not mean ‘lift"?

(1) A gentel rhythm in a tune.
(2) A cheerful tune.
(3)  The detachable frong part of a gun carriage.

(4) A characteristic rising and salling of the voice.

Options :

92090663201. 1
92090663202. 2
92090663203. 3
92090663204. 4

Question Number : 2 Question Id : 92090615998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements -

Statement | : TOTI's initiative marks the silver jubilee of project Tiger.

Statement 11 . Aecclaimed wildlife filmmaker S. Nallamuthu shot the visuals.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement 1 is incorrect but Statement I1 is correct

Options :

92090663205. 1
92090663206. 2
92090663207. 3
92090663208. 4

Question Number : 3 Question Id : 92090615999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the music director of the films “3 Idiots” and “Parineeta”™?

(1) Shantanu (2) S. Nallanuthu
(3) Bhupender Yadav {(4) Tanveer Ghazi
Options :

92090663209. 1
92090663210. 2
92090663211. 3
92090663212. 4

Question Number : 4 Question Id : 92090616000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the meaning of the term ‘acclaim™

(1)  Praise enthusiastically and publicly
(2) Claim again
(3) Accentuate
(1) Accentor
Options :
92090663213. 1
92090663214. 2

92090663215. 3
92090663216. 4

Question Number : 5 Question Id : 92090616001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which union minister was present in the TOI's tiger Anthem ceremony?

(1) Minister of finance (2) Minister of home affairs

(3) Minister of children welfare (4) Minister of environment
Options :

92090663217. 1
92090663218. 2
92090663219. 3
92090663220. 4

Sub-Section Number : 2
Sub-Section Id : 920906518
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090616002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of ‘purify’.

(1) Corrective (2) Pure
(3) Contaminate (4) Clumsy
Options :

92090663221. 1
92090663222. 2
92090663223. 3



92090663224. 4

Question Number : 6 Question Id : 92090616002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of ‘purify’.

(1) Corrective (2) Pure
(3) Contaminate (4) Clumsy
Options :

92090663221. 1
92090663222. 2
92090663223. 3
92090663224. 4

Question Number : 7 Question Id : 92090616003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined idiom in the following sentence.

At last, the truth has come out.

(1) confided (2) escaped
(3) evaded (4) transpired
Options :

92090663225. 1
92090663226. 2
92090663227. 3
92090663228. 4

Question Number : 7 Question Id : 92090616003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the meaning of the underlined idiom in the following sentence.

At last, the truth has come out.

(1) confided (2) escaped
(3) evaded (4) transpired
Options :

92090663225. 1
92090663226. 2
92090663227. 3
92090663228. 4

Question Number : 8 Question Id : 92090616004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

Dry fruits are sold by Jawahar.

(1) Jawahar sold dry fruits. (2) dJawahar has sold dry fruits.
(3) Jawahar sells dry fruits. (4) Jawahar had sold dry fruits.
Options :

92090663229. 1
92090663230. 2
92090663231. 3
92090663232. 4

Question Number : 8 Question Id : 92090616004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

Dry fruits are sold by Jawahar.

(1) Jawahar sold dry fruits. (2) Jawahar has sold dry fruits.
(3) Jawahar sells dry fruits. (4) dJawahar had sold dry fruits.
Options :

92090663229. 1
92090663230. 2
92090663231. 3



92090663232. 4

Question Number : 9 Question Id : 92090616005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the word Optimist.

(1) Destructive (2) Hopeful
(3) Disappointed (4) Funny
Options :

92090663233. 1
92090663234. 2
92090663235. 3
92090663236. 4

Question Number : 9 Question Id : 92090616005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the word Optimist.

(1) Destructive (2) Hopeful
(3) Disappointed (4) Funny
Options :

92090663233. 1
92090663234. 2
92090663235. 3
92090663236. 4

Question Number : 10 Question Id : 92090616006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence.

(1) I know what he done came as a shock.
(2) I know which he did came as a shock.
(3 [ know what he did came as a shock.

(4) [ know which he done eame as a shock.

Options :



92090663237. 1
92090663238. 2
92090663239. 3
92090663240. 4

Question Number : 10 Question Id : 92090616006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence.

(1) I know what he done came as a shock.
(2) I know which he did came as a shock.
(3 [ know what he did came as a shock.

(4) [ know which he done came as a shock.

Options :

92090663237. 1
92090663238. 2
92090663239. 3
92090663240. 4

Question Number : 11 Question Id : 92090616007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Member of Parliament will lose his membership if he is continuously absent from his
sessions for :

(1) 30 days (2) 60 days
(3) 90 days (4) 120 days
Options :

92090663241. 1
92090663242. 2
92090663243. 3
92090663244. 4

Question Number : 11 Question Id : 92090616007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Member of Parliament will lose his membership if he is continuously absent from his
sessions for :

(1) 30 days (2) 60 days
(3) 90 days (4) 120 days
Options :

92090663241. 1
92090663242. 2
92090663243. 3
92090663244. 4

Question Number : 12 Question Id : 92090616008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The World Meteorology Day is celebrated on:

(1) March 16th (2) April 20th
(3) May 20th (4) August 20th
Options :

92090663245. 1
92090663246. 2
92090663247. 3
92090663248. 4

Question Number : 12 Question Id : 92090616008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The World Meteorology Day is celebrated on:

(1) March 16th (2) Apnl 20th
(3) May 20th (4)  August 20th
Options :

92090663245. 1
92090663246. 2
92090663247. 3
92090663248. 4

Question Number : 13 Question Id : 92090616009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which film introduced playback singing in india?

(1) Raja Harishchandra (2) Lafe of Krishna
(3) Alam Ara (4) Mughal-e-Azam
Options :

92090663249. 1
92090663250. 2
92090663251. 3
92090663252. 4

Question Number : 13 Question Id : 92090616009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which film introduced playback singing in india?

(1) Raja Harishchandra (2) Life of Krishna
(3) Alam Ara {4) Mughal-e-Azam
Options :

92090663249. 1
92090663250. 2
92090663251. 3
92090663252. 4

Question Number : 14 Question Id : 92090616010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the correct combination of the diseases against which MMR vaccine is used:

(1) Measles, Mumps, Rubella (2) Malaria, Mumps, Rubella
(3) Malaria, Malnutrition, Rabies (4) Measles, Malnutrition, Rabies
Options :

92090663253. 1
92090663254. 2
92090663255. 3
92090663256. 4

Question Number : 14 Question Id : 92090616010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identity the correct combination of the diseases against which MMR vaccine is used:

(1) Measles, Mumps, Rubella (2) Malaria, Mumps, Rubella
(3) Malaria, Malnutrition, Rabies (4) Measles, Malnutrition, Rabies
Options :

92090663253. 1
92090663254. 2
92090663255. 3
92090663256. 4

Question Number : 15 Question Id : 92090616011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which city Food Corporation of India established the first food museum?

(1) Kolkata (2) Mohali
(3) Lucknow (4) Thanjavur
Options :

92090663257. 1
92090663258. 2
92090663259. 3
92090663260. 4

Question Number : 15 Question Id : 92090616011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which city Food Corporation of India established the first food museum?

(1) Kolkata (2) Mohal
(3) Lucknow (4) Thanjavur
Options :

92090663257. 1
92090663258. 2
92090663259. 3
92090663260. 4

Question Number : 16 Question Id : 92090616012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the next numhber in the following series :
21, 35, 53, b,

(1) 105 (Z) 109
(3) 101 (4) 99

Options :

92090663261.
92090663262.
92090663263.
92090663264.

AW N =

Question Number : 16 Question Id : 92090616012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next number in the following series :
21, 35, 53, 75,

(1) 105 () 109
() 101 (4) 99

Options :

92090663261.
92090663262.
92090663263.
92090663264.

B W N =

Question Number : 17 Question Id : 92090616013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following question has one statement and three conclusions. Check the
conclusions on the basis of the statement and choose the correct option.

Statement :

Meena 1s the only daughter of Mr. & Mrs. Joshi.
Conclusion :

(1) Mr. & Mrs. Joshi have two children.

(i) Meena has no brother.

(i11) Meena has a step brother.

(1) Only (1) follows (2) Only (1) follows
(3) Only (i) and (iii) follows (4) None of them follows
Options :

92090663265. 1
92090663266. 2
92090663267. 3
92090663268. 4

Question Number : 17 Question Id : 92090616013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following question has one statement and three conclusions. Check the
conclusions on the basis of the statement and choose the correct option.

Statement :

Meena is the only daughter of Mr. & Mrs. Joshi.
Conclusion :

{1y Mr. & Mrs. Joshi have two children.

(11} Meena has no brother.

(ii1) Meena has a step brother.

(1) Only (i) follows (2) Only (11) follows
(3) Only (1) and (111) follows (4) None of them follows
Options :

92090663265. 1
92090663266. 2
92090663267. 3
92090663268. 4



Question Number : 18 Question Id : 92090616014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the question, statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions

Statement ;

A multinational company has started displaying the list of Holidays of the vear on the
internet rather than displaying on the notice board.

Assumptions:
(i) All the employees have internet facility at home.

(1) Most of the employvees referred to the list on both notice board and internet
earlier.

(1) Only (i) is implicit

(2)  Only (11) 15 imphlicit

(3) Neither (i) nor (ii) 1s implicit
(4) Both (i) and (ii) are implicit

Options :

92090663269. 1
92090663270. 2
92090663271. 3
92090663272. 4

Question Number : 18 Question Id : 92090616014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the question, statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions

Statement ;

A multinational company has started displayving the list of Holidays of the vear on the
internet rather than displaying on the notice board.

Assumptions:
(1) All the employees have internet facility at home.

(1) Most of the employvees referred to the list on both notice board and internet
earlier.

(1) Only (i) is implicit

(2)  Only (11) 15 imphlicit

(3) Neither (i) nor (ii) is implicit
(4) Both (i) and (ii) are implicit

Options :

92090663269. 1
92090663270. 2
92090663271. 3
92090663272. 4

Question Number : 19 Question Id : 92090616015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V 1s wife of R. T is brother of V. 5 is the mother of R. W is father-in-law of V. Y 1s
mother-in-law of 8. How 18 V related to Y7

(1) Niece (2) Grand daughter
(3) Grand daughter-in-law (4) Daughter-in-law
Options :

92090663273. 1
92090663274. 2
92090663275. 3
92090663276. 4

Question Number : 19 Question Id : 92090616015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



V is wife of R. T 1z brother of V. S is the mother of B. W is father-in-law of V. Y is
mother-in-law of 5. How 15 V related to Y?

(1) Niece (2) Grand daughter
(3) Grand daughter-in-law (4) Daughter-in-law
Options :

92090663273. 1
92090663274. 2
92090663275. 3
92090663276. 4

Question Number : 20 Question Id : 92090616016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some girls are sitting in a row. Kamla is sitting 10th from left and Veena is 7th from
right. They have 10 girls in between them. How many girls are sitting in the row?

(1) 18 2y 27
(3) 28 (4) 29
Options :

92090663277. 1
92090663278. 2
92090663279. 3
92090663280. 4

Question Number : 20 Question Id : 92090616016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some girls are sitting in a row. Kamla is sitting 10th from left and Veena is 7th from
right. They have 10 girls in between them. How many girls are sitting in the row?

(1) 18 2y 27
(3) 28 (4) 29
Options :

92090663277. 1
92090663278. 2
92090663279. 3
92090663280. 4



Question Number : 21 Question Id : 92090616017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Values of K for which the quadratic equation 2x~ — Kx + K =0 has equal roots are:
(1) 8,4 (2) 4,4
(3) 0,4 (40 0,8

Options :

92090663281. 1
92090663282. 2
92090663283. 3
92090663284. 4

Question Number : 21 Question Id : 92090616017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Values of K for which the quadratic equation 2x~ - Kx + K =0 has equal roots are:
(8.4 () 4.4
3 04 (4) 0.8

Options :

92090663281. 1
92090663282. 2
92090663283. 3
92090663284. 4

Question Number : 22 Question Id : 92090616018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cost price of 100 copies of a book is equal to the selling price of 60 copies of the same
book. The gain or loss percentage is:

2 1
(D 662% (2) 8T=%
(3) 67% (4) 66%

Options :

92090663285. 1
92090663286. 2
92090663287. 3



92090663288. 4

Question Number : 22 Question Id : 92090616018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cost price of 100 copies of a book is equal to the selling price of 60 copies of the same
book. The gain or loss percentage is:

9
(1) iiﬂ%% (2) ﬁ?%%
(3) 67% (4) 66%
Options :

92090663285. 1
92090663286. 2
92090663287. 3
92090663288. 4

Question Number : 23 Question Id : 92090616019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B, C and D entered into a partnership. ‘A’ contributed one-third of the capital, ‘B’
contributed one-fourth, ‘C’ contributed one-fifth and ‘D’ contributed the rest. All four
of them agreed to share profit in the ratio of their capital. What 1s the share of ‘D’
when total profit is T 60007

(1) T 2,000 (2) T1,600
(3) T 1,200 (4) ®1,300

A B, C 3t D v% 93erl IF *d &l ‘A Fel It & U (088 97 1 3eE e g, B
TF YT WP H IS H 8, (O TH-I1Ed 9P F IEE Fa g I 99 e D
FA1 8| 9 91 §9 91 W TEqd € & 16 J FA1 IS & 39 § # o9 ol | 3 T oy
%.6,000 8 T 3599 ‘D’ 1 91 e 27

(1) T 2,000 (2) ¥ 1,600
(3) T 1,200 (4) ¥1,300
Options :

92090663289. 1
92090663290. 2
92090663291. 3
92090663292. 4



Question Number : 23 Question Id : 92090616019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B, C and D entered into a partnership. ‘A’ contributed one-third of the capital, ‘B’
contributed one-fourth, ‘C’ contributed one-fifth and ‘D’ contributed the rest. All four
of them agreed to share profit in the ratio of their capital. What is the share of ‘D’
when total profit is ¥ 60007

(1) T 2,000 (2) T1,600
(3) T 1.200 (4) T1,300

A, B, C 3 D U% 9Eicd € &d &1 ‘A’ Tt & U 988 9 %1 areE & g, B
UF H1UE 9P H IS HA 8, O TH-91Ed 9P FT I0EHE FGT g 3 39 IeE D
Fa 8| 9 IR §9 91 W FEqd 21d & b o A1 Il < 39 § # o9 ol I T ond
%.6,000 & ©7 3@H D’ 1 97 fha1 87

(1) T 2,000 (2) ¥ 1.600
(3) T 1.200 (4) ¥1,300
Options :

92090663289. 1
92090663290. 2
92090663291. 3
92090663292 4

Question Number : 24 Question Id : 92090616020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aman travels from P to Q at a speed of 40 km/hour and returns to P by increasing his
speed by 50%. What is his average speed for the entire journey?

(1) 36 kmv'hour (2 45 km/hour
(3) 48 km'hour {4y 50 km/hour
Options :

92090663293. 1
92090663294. 2
92090663295. 3
92090663296. 4



Question Number : 24 Question Id : 92090616020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aman travels from P to Q at a speed of 40 km/hour and returns to P by increasing his
speed by 50%. What is his average speed for the entire journey?

(1) 36 km'hour (2} 45 km/hour
(3) 48 km'hour {4y 50 km/hour
Options :

92090663293. 1
92090663294. 2
92090663295. 3
92090663296. 4

Question Number : 25 Question Id : 92090616021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes ‘A’ and ‘B’ can fill a cistern in 4 minutes and 6 minutes, respectively. If
these pipes are turned on alternately for 1 minute each (pipe ‘A’ is opened first), then
how long will it take for the cistern to fill?

(1) 4 minutes 48 seconds (2) 3 minutes 20 seconds
5} 4 minutes 50 seconds (4) 3 minutes 30 seconds
Options :

92090663297 1
92090663298. 2
92090663299. 3
92090663300. 4

Question Number : 25 Question Id : 92090616021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes ‘A’ and ‘B’ can fill a cistern in 4 minutes and 6 minutes, respectively. If
these pipes are turned on alternately for 1 minute each (pipe ‘A’ is opened first), then
how long will it take for the cistern to fill?

(1) 4 minutes 48 seconds (2) 3 minutes 20 seconds

5} 4 minutes 50 seconds (4) 3 minutes 30 seconds

Options :



92090663297. 1
92090663298. 2
92090663299. 3
92090663300. 4

Part B: Anthropology
Section Id : 920906318
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906519
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090616022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

was entrusted with the task of preparing the Anthropological part of the
Census report 1929.

(1) Mead (2) Sarkar
(3) Risley (4) Guha
Options :

92090663301. 1
92090663302. 2
92090663303. 3
92090663304. 4

Question Number : 26 Question Id : 92090616022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafaa d§ 9 58 s R 1929 &1 AFg G Hdel 4T R $39 &1 1 YR 9
T U1

(1) His (2) WHR
3 = @ el
Options :

92090663301. 1
92090663302. 2
92090663303. 3
92090663304. 4

Question Number : 27 Question Id : 92090616023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a sub-branch of Social Anthropology?

(1) Economic Anthropology (2) Physical Anthropology
(3)  Psychological Anthropology (4) Political Anthropology
Options :

92090663305. 1
92090663306. 2
92090663307. 3
92090663308. 4

Question Number : 27 Question Id : 92090616023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafad & ¥ $F amfore AFafas= & Suwrar A8l 82

M enffe 7He fagm 2) Hifae A4 fag=
(3)  WAAldgIH® AFd fdgE (4) VeFifd® AFE fag=
Options :

92090663305. 1
92090663306. 2
92090663307. 3
92090663308. 4



Question Number : 28 Question Id : 92090616024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chaleolithic cultural site is located in Pakistan.

(1) Mohenjo-daro (2) Sohan

(3) Langhnaj (4) Burzahom
Options :

92090663309. 1
92090663310. 2
92090663311. 3
92090663312. 4

Question Number : 28 Question Id : 92090616024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & § I T AU Hei Hipids ®id Ul 1 sfafeyd g2

(1)  Higaal g8l () e
(3) @i @) daieH

Options :

92090663309. 1
92090663310. 2
92090663311. 3
92090663312. 4

Question Number : 29 Question Id : 92090616025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The credit of classifying Indian people on the scientific basis of anthropometric
measurements for the first time goes to

(1) Haddon (2) Sarkar
(3) Risley (4) Guha
Options :

92090663313. 1
92090663314. 2
92090663315. 3



92090663316. 4

Question Number : 29 Question Id : 92090616025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHfaHTE & dFFE YR R YR & gauyd Frifeor &1 99 Fg & § fF9 S 82

(1) &8s 2) WER
3 = (4) el
Options :

92090663313. 1
92090663314. 2
92090663315. 3
92090663316. 4

Question Number : 30 Question Id : 92090616026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following polymorphisms is based on restriction enzymes?

(1) SNP (2) CNV
(3) RFLP (4) VNTRs
Options :

92090663317. 1
92090663318. 2
92090663319. 3
92090663320. 4

Question Number : 30 Question Id : 92090616026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafead & 9 &1 9 sgeudl widdyq TrgH IR snuiid g2

(1) SNP (2) CNV
(3) RELP (4) VNTRs
Options :

92090663317. 1



92090663318. 2
92090663319. 3
92090663320. 4

Question Number : 31 Question Id : 92090616027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Germplasm Theory was given by

(1) Buffon (2) Lamarck
(3) Durkheim (4) Weismann
Options :

92090663321. 1
92090663322. 2
92090663323. 3
92090663324. 4

Question Number : 31 Question Id : 92090616027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sgd Rgid g 1 9 foaa fan are

(1) gBH (2) WD
3) guEgH (4) dIFEHA
Options :

92090663321. 1
92090663322. 2
92090663323. 3
92090663324. 4

Question Number : 32 Question Id : 92090616028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Patau’s syndrome is caused by

(1) Trisomy 13 (2) Trisomy 18
(3) Trisomy 21 (4) Trisomy 11
Options :

92090663325. 1
92090663326. 2
92090663327. 3
92090663328. 4

Question Number : 32 Question Id : 92090616028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UeTS; Saar g & A fhus SR g &2

(1) TSI 13 (2) UG 18
(3)  USIEGA 21 (4) UBIMERTATT 11
Options :

92090663325. 1
92090663326. 2
92090663327. 3
92090663328. 4

Question Number : 33 Question Id : 92090616029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The characterstic feature of a dicentric chromosome 1s the presence of

(1) Multiple translocations (2) Several barr bodies
(3) Two centromeres (4) Pericentric inversion at two locations
Options :

92090663329. 1
92090663330. 2
92090663331. 3
92090663332. 4



Question Number : 33 Question Id : 92090616029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa-del TURE 1 fafRiy dem [y o @ fFas! Iufufd 8kl 82

(1) &% MR (2) 3H® &R fis
3) QY PR (4) 2 ™A W uRdEl ufddma
Options :

92090663329. 1
92090663330. 2
92090663331. 3
92090663332. 4

Question Number : 34 Question Id : 92090616030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MN blood group system 1s

(1) Co-dominant system (2) X-linked dominant
(3) X-linked recessive (4) Sex limited trait
Options :

92090663333. 1
92090663334. 2
92090663335. 3
92090663336. 4

Question Number : 34 Question Id : 92090616030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH U Y& GHE HOTTel 19 3 9 1 82

(1)  HeuHTd! Homedt 2) X-feieg gurdt
3) x-feigs sraurat (4) fei g a9ws
Options :

92090663333. 1
92090663334. 2



92090663335. 3
92090663336. 4

Question Number : 35 Question Id : 92090616031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In human population genetics, maternal lineages can be traced through

(1) Holandric genes (2) Y-linked genes
(3) Cytoplasmic DNA (4) Mitochondrial DNA
Options :

92090663337. 1
92090663338. 2
92090663339. 3
92090663340. 4

Question Number : 35 Question Id : 92090616031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 S ARG # ATgaR wuR &1 g & 9 [y H1erd 9 udl @l Sl 9l 82

(1) Eliligs S @) Yy-foigg &
(3) DIRFEEASITAT (4) YFABMUBISITAT
Options :

92090663337. 1
92090663338. 2
92090663339. 3
92090663340. 4

Question Number : 36 Question Id : 92090616032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Proteins are made up of smaller moelcules called

(1) transfer RNA (2) Nucleotides

(3) Amino acids (4) Hormones



Options :

92090663341. 1
92090663342. 2
92090663343. 3
92090663344. 4

Question Number : 36 Question Id : 92090616032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U RY A A fPu F B smefi A g g?

(1)  ofald AR 2) IfFsiezs

3) U o 4) THEEA
Options :

92090663341. 1
92090663342. 2
92090663343. 3
92090663344. 4

Question Number : 37 Question Id : 92090616033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who proposed the theory of Catastrophism?

(1) Cuvier (2) Lamarck
(3) Buffon (4) Archibald
Options :

92090663345. 1
92090663346. 2
92090663347. 3
92090663348. 4

Question Number : 37 Question Id : 92090616033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



beyciihed & Rigid & 1 & 4 feua vegd fasan un

(1) BlER (2) WS
(3) g 4) 3Nfhars
Options :

92090663345. 1
92090663346. 2
92090663347. 3
92090663348. 4

Question Number : 38 Question Id : 92090616034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
On the Origin of Species was the greatest work of

(1) Lamarck (2) Linnaeus
(3) Darwin (4) Landsteiner
Options :

92090663349. 1
92090663350. 2
92090663351. 3
92090663352. 4

Question Number : 38 Question Id : 92090616034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“3H T RIS 3 Wifdre 79 o 4 fbys! wgHan $id di?

(1) amrE 2) fegow
(3) Sl 4) WSER
Options :

92090663349. 1
92090663350. 2
92090663351. 3
92090663352. 4

Question Number : 39 Question Id : 92090616035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

belongs to superfamily Cercopithecoidea.

(1) Orangutan (2) Baboon
(3) Gibbon (4) Capuchin monkey
Options :

92090663353. 1
92090663354. 2
92090663355. 3
92090663356. 4

Question Number : 39 Question Id : 92090616035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g o & 1 siftpa I Tuifrd! @ defia g2

(1) 3AEH (2) 9

3) firem 4) YA TR
Options :

92090663353. 1
92090663354. 2
92090663355. 3
92090663356. 4

Question Number : 40 Question Id : 92090616036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

was the culture of Neanderthals.

(1) Mousterian (2) Aurignacian
(3 Lower Palaeolithic (1) Indus Valley
Options :

92090663357. 1
92090663358. 2
92090663359. 3
92090663360. 4



Question Number : 40 Question Id : 92090616036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8 7 | @ Astigiyd o1 Hepia i

M A (2) iR
(3) g Qs Hreiq (4) Ry arct
Options :

92090663357. 1
92090663358. 2
92090663359. 3
92090663360. 4

Question Number : 41 Question Id : 92090616037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the measure of dispersion?

(1) Mode (2) Range
(3 Median (4) Mean
Options :

92090663361. 1
92090663362. 2
92090663363. 3
92090663364. 4

Question Number : 41 Question Id : 92090616037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g T ¥ 1 U1 &1 A 82

(1) dga®d 2 ™
(3) I @) W=
Options :

92090663361. 1



92090663362. 2
92090663363. 3
92090663364. 4

Question Number : 42 Question Id : 92090616038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Neonatal period is from birth to

(1) 60 days (2) 28 days
(3) 40 days (4) 38 days
Options :

92090663365. 1
92090663366. 2
92090663367. 3
92090663368. 4

Question Number : 42 Question Id : 92090616038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jaud 3faft] o+ U fhaa fea o &1 gt 82

(1) e0fea ) 28faA
(3) 4ofeA @ 38fe=
Options :

92090663365. 1
92090663366. 2
92090663367. 3
92090663368. 4

Question Number : 43 Question Id : 92090616039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mean deviation is measure of

(1) Dispersion (2) Central tendency
(3) Average (4) Association
Options :

92090663369. 1
92090663370. 2
92090663371. 3
92090663372. 4

Question Number : 43 Question Id : 92090616039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1y fage Ay § 9 f&as1 9 giar 82

(1) uivH ) g
(3) ofd @) TIUH
Options :

92090663369. 1
92090663370. 2
92090663371. 3
92090663372. 4

Question Number : 44 Question Id : 92090616040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an a “ratio” variable or level of measurement?

(1) Height (2) Gender
(3) Economic Status (4) Blood groups
Options :

92090663373. 1
92090663374. 2
92090663375. 3
92090663376. 4



Question Number : 44 Question Id : 92090616040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifed # 9 $19 U “SUIA” (ratio) IR YT HIUH T TR 87

(1)  Gars @ fén
3) oifdd w&R (4) & TG
Options :

92090663373. 1
92090663374. 2
92090663375. 3
92090663376. 4

Question Number : 45 Question Id : 92090616041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a parametric test?

(1) Chi-squared test (2) Kruskal Wallis test
(3) Student’s t test (4) Mann Whitney U test
Options :

92090663377. 1
92090663378. 2
92090663379. 3
92090663380. 4

Question Number : 45 Question Id : 92090616041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofafEa 7 @ o1 e uafas e g2

(1) 318 37 gdiem (2) HUDHT alferd giem
(3) et U (4) WM e u adem
Options :

92090663377. 1
92090663378. 2



92090663379. 3
92090663380. 4

Question Number : 46 Question Id : 92090616042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous article “ Archaelogical Systematics and The Study of Cultural Processes™
(1965) was written by

(1) Heinrich Schliemann (2) G. Elliot Smith
(3 Lewis R. Binford (4) Emile Durkheim
Options :

92090663381. 1
92090663382. 2
92090663383. 3
92090663384. 4

Question Number : 46 Question Id : 92090616042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%m”gﬂmmﬂmmﬁﬁ&[ﬂﬂ? (1965) Fafarad & 9 fFa
P

(1) &I wWH A (2) off. uferge fRry
3) afay ofre, famrE (4) UfPQ gEsH
Options :

92090663381. 1
92090663382. 2
92090663383. 3
92090663384. 4

Question Number : 47 Question Id : 92090616043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following tools was not associated with Lower Palaeolithic period?

(1) Chopping (2) Abbevillian Handaxe
(3) Cleaver (4) End Scraper
Options :

92090663385. 1
92090663386. 2
92090663387. 3
92090663388. 4

Question Number : 47 Question Id : 92090616043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 T 9 &1 91 SieR Y gRaTST 1d 9 Heifid g un

(1)  H&dd ) Usfaferm 9y Feere!
(3) Id Peglsl (4) 3™ UIND
Options :

92090663385. 1
92090663386. 2
92090663387. 3
92090663388. 4

Question Number : 48 Question Id : 92090616044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the Perigordian tool type?

(1) Chattelperronean knife (2) Acheulian handaxe
(3) Abbevillian handaxe (4) Cleaver
Options :

92090663389. 1
92090663390. 2
92090663391. 3
92090663392. 4



Question Number : 48 Question Id : 92090616044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 # 9 ®H UF USHR &1 IRIMST SR g2

(1) IcaRifF3E O (2) S grUPesIol
(3)  3Hddicll 814 Pegral (4) RId Peglal
Options :

92090663389. 1
92090663390. 2
92090663391. 3
92090663392. 4

Question Number : 49 Question Id : 92090616045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The archeological site “Bhimbetka” is located in the state of

(1) Pakistan (2) Gujarat
(3) Uttar Pradesh (4) Madhya Pradesh
Options :

92090663393. 1
92090663394. 2
92090663395. 3
92090663396. 4

Question Number : 49 Question Id : 92090616045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Riafasd W “Hiades 9 3 9 &y T | s@fyd g2

(1) BIEEIGH (2) TeRId
(3) ITRUSH (4) HEOYSR
Options :

92090663393. 1



92090663394. 2
92090663395. 3
92090663396. 4

Question Number : 50 Question Id : 92090616046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Mesolithic site “Langhnaj”is located in

(1) Pakistan (2) Gujarat
(3) Uttar Pradesh (1) Andhra Pradesh
Options :

92090663397. 1
92090663398. 2
92090663399. 3
92090663400. 4

Question Number : 50 Question Id : 92090616046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUTSTON S digArs g 7 § $gf srafud g2

(1) Ul 2) e
(3) SUSH (4) SMiyuay
Options :

92090663397. 1
92090663398. 2
92090663399. 3
92090663400. 4

Question Number : 51 Question Id : 92090616047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“Copper hoard culture” is a feature of

(1) Chaleolithic sites (2) Lower Palaeolithic sites
(3) Mesolithic sites (4) Upper Palaeolithic sites
Options :

92090663401. 1
92090663402. 2
92090663403. 3
92090663404. 4

Question Number : 51 Question Id : 92090616047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dH T Gepfa” g o 4 feaa siiraemn g2

(1) TTHUTSTo R (2) =9 QRS R
(3) AU ®d (4) = QRIUTSIO) R
Options :

92090663401. 1
92090663402. 2
92090663403. 3
92090663404. 4

Question Number : 52 Question Id : 92090616048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mount of Mitathal is located in

(1) Harvana (2) Srinagar
(3) Bhopal (4) Chhitorgarh
Options :

92090663405. 1
92090663406. 2
92090663407. 3
92090663408. 4

Question Number : 52 Question Id : 92090616048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HieTyd Arde &gl 3afud g7

(1)  sivarm (2) 4R
(3) MM (4) fieTe
Options :

92090663405. 1
92090663406. 2
92090663407. 3
92090663408. 4

Question Number : 53 Question Id : 92090616049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous book The Evolution of Culture (1959) was written by

(1) MeKim Marriot (2) Talcott Parson
(3) Leslie A. White (4) W.H.R. Rivers
Options :

92090663409. 1
92090663410. 2
92090663411. 3
92090663412. 4

Question Number : 53 Question Id : 92090616049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG Qe g UaIedeH S dear” (1959) ®i g # faaa forar ur?

(1) AfeH Afge (2) Twple U
(3) T @RS (4) S&g TE. IR dad
Options :

92090663409. 1
92090663410. 2
92090663411. 3
92090663412. 4



Question Number : 54 Question Id : 92090616050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pioneer of British Neo-Evolutionary school was

(1) Oscar Wilde (2) V. @G. Childe
(3) R. Benedict (4) M. Mead
Options :

92090663413. 1
92090663414. 2
92090663415. 3
92090663416. 4

Question Number : 54 Question Id : 92090616050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeer 7a fasraard 3 & srigd & 42

(1) PR AR @ distasE
(3) SR dfgae @) UuHHs
Options :

92090663413. 1
92090663414. 2
92090663415. 3
92090663416. 4

Question Number : 55 Question Id : 92090616051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book Kinship and Social Organization (1914) was written by

(1) W.H.R. Rivers (2) R. Benedict
(3) S. Freud (4) M. Srinivas
Options :

92090663417. 1



92090663418. 2
92090663419. 3
92090663420. 4

Question Number : 55 Question Id : 92090616051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“fpfR T Hrea ArfHAEeE (1914) Gas Fafefed § 9 e o 4

(1) &g TEAR. 9y 2) °R SAfSd
(3) UH.WHES 4) UH giRa™
Options :

92090663417. 1
92090663418. 2
92090663419. 3
92090663420. 4

Question Number : 56 Question Id : 92090616052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was not a supporter of Diffusional School of thought?

(1) W.d. Perry (2) R.R. Marett
(3) A L. Kroeber (4) F. Boas
Options :

92090663421. 1
92090663422. 2
92090663423. 3
92090663424. 4

Question Number : 56 Question Id : 92090616052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad 7 9 11 TR faRyRT FSrged Yod S Yie) &1 gl a1 ui?

(1) o o o (2) SRR HARE
(3) UUd. TR (4) UP &0H
Options :

92090663421. 1
92090663422. 2
92090663423. 3
92090663424. 4

Question Number : 57 Question Id : 92090616053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B. Malinowski did his fieldwork on the

(1) Andamanese (2) Nicobarese
(3 Indonesians (4) Trobriand islanders
Options :

92090663425. 1
92090663426. 2
92090663427. 3
92090663428. 4

Question Number : 57 Question Id : 92090616053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 AfeHaws! 3 31U e Ay # ¥ foew ur T ure

(1) 3= fAar 2) FeER Ao
(3) SSHRMrE gHe™ (4) TIgNCS gyt
Options :

92090663425. 1
92090663426. 2
92090663427. 3
92090663428. 4



Question Number : 58 Question Id : 92090616054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who explained the paradoxes in relation to culture in his book Man and His Work
(1956)?

(1) Herskovits (2) Kroeber
(3) Morgan (4) Durkheim
Options :

92090663429. 1
92090663430. 2
92090663431. 3
92090663432. 4

Question Number : 58 Question Id : 92090616054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 ¥ A foa ol gds A4 T RS ab 1956 ¥ Wepld & ddy # eyl &1 &y
T ur?

(1) gEDidey (2) IR
3) WHEEA (4) EsH
Options :

92090663429. 1
92090663430. 2
92090663431. 3
92090663432. 4

Question Number : 59 Question Id : 92090616055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept of Tribe-Caste Continuum was given by

(1) M.N. Srinivas (2) K.N. Saraswathy
(3) V.C.Channa (4) Surjeet Sinha

Options :



92090663433. 1
92090663434. 2
92090663435. 3
92090663436. 4

Question Number : 59 Question Id : 92090616055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S-S Sdd® & Gded] A9 H ¥ fogd &t A

(1)  THUA, difa™ () &U. TG
3) diw = (4) Goid R
Options :

92090663433. 1
92090663434. 2
92090663435. 3
92090663436. 4

Question Number : 60 Question Id : 92090616056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Caste in Modern India (1962) is the famous work of

(1) M.N. Srinivas (2) K.N. Saraswathy
(3) P. K. Seth (4) A. K. Sinha
Options :

92090663437. 1
92090663438. 2
92090663439. 3
92090663440. 4

Question Number : 60 Question Id : 92090616056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“HIE 39 HISA si3ur (1962) A9 7 4 fhus! uftig $fd 82

(1) UHEA gifFHas (2) .U, g3Eadt
(3) Ul& 948 4) udb, e



Options :

92090663437. 1
92090663438. 2
92090663439. 3
92090663440. 4

Question Number : 61 Question Id : 92090616057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not true about the charaterstic features of Hindu caste
system?

(1) Innate nature (2) Endogamy
(3) Hierarchy (4) Political conflict
Options :

92090663441. 1
92090663442. 2
92090663443. 3
92090663444. 4

Question Number : 61 Question Id : 92090616057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feg wnfa caawt & AR sfiraeol & ddu & g ¥ & us 98l 761 82

(1) Sidslid Weid (2) Sidfdarg
(3)  HrH®! (4) oHIdD g8
Options :

92090663441. 1
92090663442. 2
92090663443. 3
92090663444. 4

Question Number : 62 Question Id : 92090616058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who contributed to the study of National Character?

(1)  Vidyarthi (2) Mead
(3) Dube (4) Majumdar
Options :

92090663445. 1
92090663446. 2
92090663447. 3
92090663448. 4

Question Number : 62 Question Id : 92090616058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P AR & sreme | 1 H 9 fhe grrer faan

(1) faemft 2) #His
3) gd (4) HAYHER
Options :

92090663445. 1
92090663446. 2
92090663447. 3
92090663448. 4

Question Number : 63 Question Id : 92090616059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous book Patterns of Culture was written by

(1) McKim Marriot (2) Ralph Linton
(3)  R. Benedict (4) M. Mead
Options :

92090663449. 1
92090663450. 2
92090663451. 3
92090663452. 4



Question Number : 63 Question Id : 92090616059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG gEid “Ue=q 3t dear” &I 9 # ¥ fdw foran ur

(1) AfeH ARge (2) e feieq
(3) SR &g @) THHS
Options :

92090663449. 1
92090663450. 2
92090663451. 3
92090663452. 4

Question Number : 64 Question Id : 92090616060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not come under the four Purusharthas?

(1) Dharma (2) Ritual
(3) Kama (4) Artha
Options :

92090663453. 1
92090663454. 2
92090663455. 3
92090663456. 4

Question Number : 64 Question Id : 92090616060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & 8 & 9R qewd & iard -1g offdl 87

() uH 2) HHFIE
3) HM 4) 31
Options :

92090663453. 1
92090663454. 2
92090663455. 3



92090663456. 4

Question Number : 65 Question Id : 92090616061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who described caste as “organic and heirarchical” while tribe as “segmentary and
egalitarian™?

(1) Cora-du-Bois (2) G.P. Murdock
(3) Milton Singer (4) F.G. Bailey
Options :

92090663457. 1
92090663458. 2
92090663459. 3
92090663460. 4

Question Number : 65 Question Id : 92090616061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa & @ feaa oifa &1 “3@udt g Sae” Jafe S9fd &1 “Eeig @ gadERk &
U ¥ quiF fasar ur?

(1) ®RI-g-dZd (2) S #Sied
3) AR @) UESH e
Options :

92090663457. 1
92090663458. 2
92090663459. 3
92090663460. 4

Question Number : 66 Question Id : 92090616062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concept of Nature-Man-Spirit Complex was given by

(1) L. P. Vidyartha (2) M. N. Srinivas
(3) S. C. Dube (4) A. K. Sinha
Options :

92090663461. 1
92090663462. 2
92090663463. 3
92090663464. 4

Question Number : 66 Question Id : 92090616062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T-GY-3HTa ARy &1 Fheq1 g & 9 {5 ugd &1 4

(1) A &endf (2) UTHTUA e
(3) ugdHlgd 4) TF. =1
Options :

92090663461. 1
92090663462. 2
92090663463. 3
92090663464. 4

Question Number : 67 Question Id : 92090616063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dichotomy of surroundings as profane and sacred was proposed by

(1) M. N. Srinivas (2) E. Durkheim
(3) A. Kroeber (4) Karl Marx
Options :

92090663465. 1
92090663466. 2
92090663467. 3
92090663468. 4



Question Number : 67 Question Id : 92090616063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uide1 & 3(urd 9 ufdA g14 & feHTe ! A9 # ¥ fa uegd fhar ur?

(1)  THTE 9ifFam ) 3.g@sH
(3) U Hua (4) @Te HIEH
Options :

92090663465. 1
92090663466. 2
92090663467. 3
92090663468. 4

Question Number : 68 Question Id : 92090616064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A):  Sickle cell anemia is a non-genetic disease.

Reason (R): Sickle cell anemia is caused by substitution of valine for the normally

present glutamic acid.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090663469. 1
92090663470. 2
92090663471. 3
92090663472. 4



Question Number : 68 Question Id : 92090616064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 21 YA 3T U §: U DY (Assertion A) B ®U ¥ faf@d § d gU IUS HRU
(Reason R}ﬁamr ﬁ;

HUPYT A : S DIRADT SR U IR SRS IR 2

HRUIR: S PIRST 3RFAdl YH €Y I IR i 3 & H W AdH &
UfRITI & RO gl 8l

JURI Y & 3fdld H, 419 3w U ol § 9 9698 Iugad IR &1 994 Sifen

(1) ASRRIAITE § R R A DI el AR &

20 ASRREHA GEI g, Ofch R, A BT TS TS G &
(3) AUEE AFTRIGTE

(4 AUGITEIE, ABTRULE

Options :

92090663469. 1
92090663470. 2
92090663471. 3
92090663472. 4

Question Number : 69 Question Id : 92090616065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Tarsiformes are the important link between two sub-orders, i.e.

Prosimii and Anthropoidea.

Reason (R) : There are many features common between the two; for instance, the

presence of post-orbital processes.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 15 not correct

(4) (A) is not correct but (R) is correct

Options :

92090663473. 1
92090663474. 2
92090663475. 3
92090663476. 4

Question Number : 69 Question Id : 92090616065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



419 &1 YA AU U §: UF HNSYA (Assertion A) F FU  H foffdd g ol TR IUF HRUI
(Reason R}%F‘I ff;

AU A - RGBS 1 Iu-moil sufd WfAsns iR wuRfew & €9 & ugay

foi® § |

PFRUIR - 3l & o 3% MfHTLU THE & IEI0 WEY S et ulharsii &1

Jufyfal

IR FY & 3fdld H, 19 3w U ol § 9 968 Iugad IR &1 994 Bifoe

(1)
(2)
(3)
(4)

A 3R R EIF1 el 8 SR R, A B UEl AR ©

A 3R RG] el g, dfch R, A DI Tl RS T8l &
ARSI g AfpTRUE TS &

ATE el 8, AP R WEI §

Options :

92090663473. 1
92090663474. 2
92090663475. 3
92090663476. 4

Question Number : 70 Question Id : 92090616066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : The normal distribution is a symmetrical curve.

Reason (R) : The normal distribution curve is also know as Gaussian curve.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) is not correct

(4) (A) 15 not correct but (R) is correct

Options :

92090663477. 1
92090663478. 2
92090663479. 3
92090663480. 4

Question Number : 70 Question Id : 92090616066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

91 S YA U U §: U SHGY (Assertion A) & U H foff@d g @ TR 39S BRUI
(Reason R) P &Y W

HHBYTA - YHHA s GAHd 9F gl
PRUIR: T sed deb Mg db & w0 | Wt SF1 A1 g1
I HYA & el 1 A i3 o fasedi # 9 9el I &1 994 Hifo

(1) ASRRSH Hel g 3R R A DI TEl ST &

(2) ASIRREH Tl g, AfB R A DI Uel A 7ol &
(3) AWEE AfFTR I TS B

(4) AGEIAEIE, APTRUEIE

Options :



92090663477. 1
92090663478. 2
92090663479. 3
92090663480. 4

Question Number : 71 Question Id : 92090616067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) :  Genetic drift usually happens in small size populations.

Reason (R) : Small population size is more prone to random fluctuations due to

sampling error

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

Options :

92090663481. 1
92090663482. 2
92090663483. 3
92090663484. 4

Question Number : 71 Question Id : 92090616067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ha g1 oy fou U §: U SifUHYA (Assertion A) B ®U ¥ fifad § ol GERT IUH HRUI
(Reason R}%F‘I ff;

AMBYT A : AP 3UATE M IR R BT DR P s-8Emsi § gar g

PRUIR BIe SFHET AHR Ufd=adq Fedl & SR gefsd IW-dgd & SiiD
PELEEGE

SURIF FYF & 3Tt |, < 37U 0 fawedl # ¥ ¥l IR &1 949 DI

(1) ASIRRGHI T8l g 3R R A DI el ARAT §

2) ASRRIAIGEE AfFIR AP TS A AT @
(3) ATEE AT RO AL

(4) AFEITel g, AP R UG €

Options :

92090663481. 1
92090663482. 2
92090663483. 3
92090663484. 4

Question Number : 72 Question Id : 92090616068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Linkage is the relationship between two alleles located on different

chromosomes.

Reason (R) : Linked genes avoid crossing over.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 15 not correct but (R) 1s correct

Options :

92090663485. 1
92090663486. 2
92090663487. 3
92090663488. 4

Question Number : 72 Question Id : 92090616068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4119 1 YA AU U §: U SiNSY (Assertion A) F FU  H foifed § @ TR ITF HRUI
(Reason R}a'TF'I[ ff;

HUFYA A - TEaddl IHF TURET W HafRyd €1 Ggaiitl (3fcfteot) & & &1 Hay gl 8
PRUIR - Head oA faf g &1 ufver 3t 81
IWIad YA & 3Mdld |, A" f3u 70 fawedi 1 9 el I &1 994 B

(1)
(2)
(3)
(4)

A 3R R EIF1 el 8 3R R, A S WEl AT &

A 3R R G U8l &, AT R, A DI el TS 16l &
AUS B dfPTREE TET &

A Wl TET 8, AfF R W &

Options :

92090663485. 1
92090663486. 2
92090663487. 3
92090663488. 4

Question Number : 73 Question Id : 92090616069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) :  Brachiation is a mode of locomotion among the Gibbons.

Reason (R) : Extremely elongated fingers and shortened thumb in Gibbons help in

brachiation.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) 15 not correct

(4) (A) is not correct but (R) is correct

Options :

92090663489. 1
92090663490. 2
92090663491. 3
92090663492. 4

Question Number : 73 Question Id : 92090616069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



419 9 Ty U U §: U NS Y (Assertion A) F FU  H foff@d g @ TR ITF SR
(Reason R) P &Y W

ANPYT A - ] & argmee 9 &1 e gl 81
HRUIR: a1 o ofcaftie ddl siiferal @ B¢ oS agTH- & 98 gid o |
IURIdd HYH & 3Mdid H, g i3 e fabedi & 9 9el IR &1 994 Fifore

(1)  ASRRIAI TSI § 3R R, A P e AR B

2 ASRRIHAIHEl §, dfch R, A DI el AR T8l &
(3) AWEIE APARUS S S

(4 AUPITElE, AfBTRAEE

Options :

92090663489. 1
92090663490. 2
92090663491. 3
92090663492. 4

Question Number : 74 Question Id : 92090616070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(GGiven below are two statements: One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) :  Negative bulb of percussion is present on core.

Reason (R) : Positive bulb of percussion is present on flakes.

In the light of the above statements, choose the most appropriate answer from the
options given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct



Options :

92090663493. 1
92090663494. 2
92090663495. 3
92090663496. 4

Question Number : 74 Question Id : 92090616070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#a & YA 3T TN B U SHIUDBUA (Assertion A) B T H faf@d & @ gUA IUD BRUI
(Reason R}%F‘J ff;

HUBUT A - STHd BT BUNHSD dod g W IURYT AT g
PRUIR - 3T P Y RIHS ded Yo I JURYA ST 8|
SWIF Y & 3fclid H g i3 e fasedi d 9 9el I &1 994 Hifo

(1)  ASIRRTHITEl g SR R A DI gl ARAT §

@  ASRREHIHEl 8, dfd R, A DI & ARAT el &
(3) AU E AMFTRIATH T

(4 AUGITElE, AfBTR UL

Options :

92090663493. 1
92090663494. 2
92090663495. 3
92090663496. 4

Question Number : 75 Question Id : 92090616071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Carbon-14 is an absolute dating technique.

Statement [  :  Fluorine analysis 15 a relative dating technique.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement 1 is false but Statement 11 is true

Options :

92090663497. 1
92090663498. 2
92090663499. 3
92090663500. 4

Question Number : 75 Question Id : 92090616071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QY Py R E:

HY | Bl 14 T (AR08 ST FAuRo aa-ia g1

HUF | - I3 Ao U el w1 FuiRor as-ie g

JURIH HY= & 3Teires H, 41 fou e fawedt # 9 98t I o1 994 Sifon

(1) YIRS gl &
)  HYF 1SR 1 EFT TTAd §
(3) Y| el 8, AipA Y | Tad &
(4) HYF | g, dfb HYF 11 TS B



Options :

92090663497. 1
92090663498. 2
92090663499. 3
92090663500. 4

Question Number : 76 Question Id : 92090616072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Introns are segments of gene that are involved in protein
synthesis.
Statement II  : Exons are segments of gene that are transcribed and involved in

protein synthesis.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement I are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement I1 is false

(4) Statement I 1s false but Statement Il is true

Options :

92090663501. 1
92090663502. 2
92090663503. 3
92090663504. 4

Question Number : 76 Question Id : 92090616072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIERACAIE A TR LR

BY | - Fo oA & WS Bld § Ol WICH TNl 7 S gid 81

DY || : T SiF & WS Bl & ol SAfeiad gid ¢ d Wiei auu) § Sfcidwd gid g
IR HYF & 3l |, 91 iy M 9t 7 ¥ gt I &1 994 o

(1) Y1 SR 1A el &
(2) @Y1 3R 1 EH Tad €
(3) YT TS B, AP HYA 1 TTad B
(4) @Y1 TTAd 8, Wichd U1 Tel &

Options :

92090663501. 1
92090663502. 2
92090663503. 3
92090663504. 4

Question Number : 77 Question Id : 92090616073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | :  Man belongs to the order Primates.
Statement 11 :  Man belongs to the suborder Anthropoidea.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement II is false

(4) Statement 1 is false but Statement I is true

Options :
92090663505. 1



92090663506. 2
92090663507. 3
92090663508. 4

Question Number : 77 Question Id : 92090616073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FuARUTE:
HY | JOY UIEHe 707§ Hefia g

HYA 11 - T U TRAGETEAT § Haidd B
IURIFd HYF & 3fdlid H g fSu e fasedi | 9 "al 39 &1 994 Hifold

1) BYF 1 3R 1 A e §
)  PYUAI SR 1 EF TTad §
(3)  ®YA1 el g, Afchd HYA 11 TTed &
@) YA TAd 8, Al HY || T8l §

Options :

92090663505. 1
92090663506. 2
92090663507. 3
92090663508. 4

Question Number : 78 Question Id : 92090616074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Linea aspera is present on femur bone.

Statement 11 : Femur bone is also know as os innominatum.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ 1s true but Statement 11 is false

(4) Statement [ is false but Statement I is true

Options :

92090663509. 1
92090663510. 2
92090663511. 3
92090663512. 4

Question Number : 78 Question Id : 92090616074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl vy iRy e &

HY | - 3P T e Y R Bl B

YT 11 H AR BT 3G FABEH & E H Wi SHE S8

IR HY & 3aid H, 713 fGu 0 fapedl § 9 969 Iugad IR &1 994 Siford:

(1)  BYTISR IS L §
)  PYA1 SR 1 TTEd §
(3) ®YF| el &, Wb HYA || Tad &
(4)  PYF | TTAd ©, b HYT 1l Hel ©

Options :
92090663509. 1



92090663510. 2
92090663511. 3
92090663512. 4

Question Number : 79 Question Id : 92090616075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . The earliest of the East African Homo erectus were found in East
Turkana.
Statement I :  The earliest of the Australopithecus were found in Germany.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 11 is false
(4) Statement 1 is false but Statement I is true

Options :

92090663513. 1
92090663514. 2
92090663515. 3
92090663516. 4

Question Number : 79 Question Id : 92090616075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Py RuMu E:

HUF | - Faie RIS gdi npie! gl S3ded gdl gbi1 3 Ui 7Y 3|

HY || - AP RIS ey s 7 ar e 4|

SWRIGd By & Aaid |, A9 ST 7 faded # F Fa¥ Iugad IR & 99 Bifoid:

(1) BYF 1 3R 1A TS §
)  BYF ISR 1 EF TTad §
(3) Y| YE g, dfbA HYA 11 TTeid ©
(4) YA | T §, Alh HYE || TEl ©

Options :

92090663513. 1
92090663514. 2
92090663515. 3
92090663516. 4

Question Number : 80 Question Id : 92090616076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Dock is an important feature of the Indus Valley Civihization

found at site Lothal.

Statement I : The site Kalibangan is located in the district of Ganganagar,

Rajasthan.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement I1 are false
(3) Statement [ is true but Statement II is false

(4) Statement I 1s false but Statement Il 1s true

Options :

92090663517. 1
92090663518. 2
92090663519. 3
92090663520. 4

Question Number : 80 Question Id : 92090616076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Py RUMUE:

HU | - Ty e UR T T T (@) Rity 9Tt 9 1 U Aeayqu! Sfiar 2|
HYA || : BTeaT Rd A6H & TR foret 7 safud g1

IR HYF F 3Teles H, 1 iU 0 [9bel 7 3 gad Iuged IR &1 994 SIfol:

(1) @Y1 3R I SF 9gl €
(2)  ®YA ISR 11 SFT TTAd &
(3) @Y | HEl g, dih HY 11 TTeld ©
(4) @Y1 TTAd g, dichd HYF 11 G8l §

Options :

92090663517. 1
92090663518. 2
92090663519. 3
92090663520. 4

Question Number : 81 Question Id : 92090616077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement [ :  The cranial capacity of humans ranges from 1150 to 1750 em?®.
Statement II  : The cramial capacity of chimpanzee ranges from 285 to 500 em?.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement I are false
(3) Statement [ is true but Statement 11 is false

(4) Statement 1 is false but Statement I is true

Options :
92090663521. 1



92090663522. 2
92090663523. 3
92090663524. 4

Question Number : 81 Question Id : 92090616077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 3 YA lRu e §:

®YA | TSI B HUT &HAT 1150 F 1750 cm? 1 ¥61 | gl g |

&Y 11 : fRiuisl & HuTd &Fdl 285 ¥ 500 cm® &1 ¥ H gl €1

IR HYA & 3fdld H, 14 fGU U fabadl § 9 969 Iugdd IR &1 9494 Sifod:

(1)  ®YTISR I GAT el §
2)  ®YFI1 SR 1 EH Tad €
(3) YT e, Al Sy 11 TTad &
(4)  ®YF| 6 g, e HYA I TE 8

Options :

92090663521. 1
92090663522. 2
92090663523. 3
92090663524. 4

Question Number : 82 Question Id : 92090616078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements -

Statement [ : Iliac blades are present on pelvic girdle.

Statement [I  :  Acetabulum is present on pelvic gridle.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement Il is false

(4) Statement [ is false but Statement 11 is true

Options :

92090663525. 1
92090663526. 2
92090663527 3
92090663528. 4

Question Number : 82 Question Id : 92090616078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERACAIE AT IR

&Y | : fRIs® Bad Hiftr 96 W Ut 9 B

HYF | : THSTgH 4101 9 IR UIU o §1

SR HY & Haid |, A1 U 7 fawedi 7 3 98 Iugdd Itk &1 997 Hifeid:
(1) @Y1 3R 1A Tel §

)  BYF 1SR 1 SFI Tad §

3) SUTIYsle, AP DY TTad §
(4) PYTITAd g, Al YT I TET §
Options :

92090663525. 1
92090663526. 2



92090663527. 3
92090663528. 4

Question Number : 83 Question Id : 92090616079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Pedigrees cannot used for studying inheritance pattern.

Statement I  : Pedigrees can only be taken from nuclear family.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement 11 is true

Options :

92090663529. 1
92090663530. 2
92090663531. 3
92090663532. 4

Question Number : 83 Question Id : 92090616079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRAFyARRuUE:

HUA|
DY |

- gumTfd e & 3ieaya & fore dunadt &1 wanT A8 fear o gedr g1
. ATl &1 A Jd-$ed 9 81 ol off Sdhdl g

JURIE YA & 3ficils H, 1= f3u 70 faw el # 9 998 Iuge IR &1 994 Hifore:

(1)
(2)
(3)
(4)

HYF | R 1 S Tel &
HYF 1 R 11 ST TTAd ©
HYF | GEl ¢, AP Y 11 TTad &
HY | 7T 8, Afp U || TET §

Options :

92090663529. 1
92090663530. 2
92090663531. 3
92090663532. 4

Question
Question

Number : 84 Question Id : 92090616080 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  The earliest stone tools are pebble tools.

Statement [I  : Blade tools were common in Upper Palaeolithic period.

In the

light of the above statements, choose the correct answer from the options given

below :

(1)
(2)
(3)

(4)

Options :

Both Statement I and Statement I1 are true

Both Statement [ and Statement Il are false

Statement [ is true but Statement I1 is false

Statement [ is false but Statement Il is true



92090663533. 1
92090663534. 2
92090663535. 3
92090663536. 4

Question Number : 84 Question Id : 92090616080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RA s RTME:

HY | : HRS TR NER e $foR 41

HUF || - I QU] HTd H B SR dH= 4|

IR FYF & 3fdid |, 11 fGu U fasedl § 9 999 Iugad IR &1 944 Difol:

(1) YT SR 1 SAT I8 &
(2) @Y1 3R EH Tad €
(3) BYF | Tl g, Afed HYF 11 TTed @
(4) Y| TAd 8, AP BT 1| Tl &

Options :

92090663533. 1
92090663534. 2
92090663535. 3
92090663536. 4

Question Number : 85 Question Id : 92090616081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Xpgis a blood group system.

Statement I  : Kell is a blood group system.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement | and Statement 11 are false
(3) Statement [ is true but Statement I1 is false

(4) Statement I 1s false but Statement Il 1s true

Options :

92090663537. 1
92090663538. 2
92090663539. 3
92090663540. 4

Question Number : 85 Question Id : 92090616081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 q HyA MU E:

HUF | : Xg U Iad g UUITel! B

HUF 1 : B (Kell) U T HHE YU & |

SRR FYA & 3MTeile H, T f3U 7 fasseul & ¥ 999 Iuged IR &1 99 HIf:

(1) YA SRS el §
)  HYA 1SR 1 TTad §
(3) ®YA| Fal g, Withd YA Il T &
(4) HY | TTed B, Afcbd S 11 IS B

Options :
92090663537. 1



92090663538. 2
92090663539. 3
92090663540. 4

Question Number : 86 Question Id : 92090616082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement [ :  Culture is uniquely human.

Statement [  : Culture is naturally inherited from one generation to another.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement [ is true but Statement II is false

(4) Statement [ is false but Statement 11 is true

Options :

92090663541. 1
92090663542. 2
92090663543. 3
92090663544. 4

Question Number : 86 Question Id : 92090616082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e d sy Gy §:

HUT | - A FT FY A A B |

HYF || G¥Pld T UGt T gl digl a wrHifds &9 | d2mTd gt g

SURIE $YF & 3fTeiier H, A 30 70 fawedl # ¥ ¥ad Jugad IR &1 994 Difore:

(1) BYF 1 3R 1 e B
(2) YA SR 1 SF TTAd §
(3) Y| Tl g, dicb HY 11 TTed &
(4) Y| TTAd §, e FYF 11 9T 8

Options :

92090663541. 1
92090663542. 2
92090663543. 3
92090663544. 4

Question Number : 87 Question Id : 92090616083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement [ ¢ (Gaddi is a pastoral community.
Statement II  : Santhal is a pastoral community.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement I and Statement Il are true
(2) Both Statement [ and Statement I1 are false
(3 Statement [ 1s true but Statement I1 is false

(4) Statement [ is false but Statement Il is true

Options :
92090663545. 1



92090663546. 2
92090663547. 3
92090663548. 4

Question Number : 87 Question Id : 92090616083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FYE UM E:
HYF | : T ULIRS TS B

HYF | - GUTd IRERS TS B
JURI YA & 3ffeites #, 12 fGU 70 fawseul # 9 98 Iuge IR &1 994 Fifore:

(1) YT RS GG &
2)  HYA SR 1S TTad §
(3) Py 9l g, Afchd HYA 11 7Tad &
(4) YA | A 8, Aih Y || Tel &

Options :

92090663545. 1
92090663546. 2
92090663547. 3
92090663548. 4

Question Number : 88 Question Id : 92090616084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech List I with List I1:

List I - Fossils List II - Characteristics
(A) Palaeolithic period () Barbarism
(B) Neolithie period (IT) Savagery
(C) Copper Age (ITI) Higher Barbarism
(D) Early Bronze Age (IV) Civilization

Choose the correct answer from the options given below :

(1) (-1, (B)-(II), (C)-(IV), (D)-(I)
(2)  (A)-D, (B)-(1D), (C)-(I), (D)-IV)
(3)  (A-ID), (B)-(D), (C)-(IL), (D)-IV)
(4)  (A)-(IV), B)-(D), (C)-(II), (D)-(ILI)

Options :

92090663549. 1
92090663550. 2
92090663551. 3
92090663552. 4

Question Number : 88 Question Id : 92090616084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | o Ty gt 1) T e Sifeg

-1 (Siarem) -1 (SEO)
(A) ORI UTHTU] ST () el
(8) 1 UTNIU] BT (y I
(€ dHETI iy IR FeRdl
(D) RIS B I (V) EWdr
i fgu U fahedl § € 9l IO &1 98 ST

(1) (A)-(I), (B)-(1), (C)-(1V), (D)-(I)

(2) (A)-(1), (B)-(1D), (C)-(1), (D)-(IV)
(3) (A)-(I1), (B)-(1), (C)-(1), (D)-(1IV)
(4) (A)-(1V), (B)-(1), (C)-(11), (D)-(H1)

Options :
92090663549. 1



92090663550. 2
92090663551. 3
92090663552. 4

Question Number : 89 Question Id : 92090616085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can disturb genotypic proportions under Hardy-Weinberg
equilibrium?

(A) Natural selection

(B) Mendelian population

(C) Random mating

(D) Consanguinity

(E)  Assortive mating

Choose the correct answer from the options given below :

(1) A Dand E
(2) B,Cand D
(3) C,Dand E
(4) A CandD

Options :

92090663553. 1
92090663554. 2
92090663555. 3
92090663556. 4

Question Number : 89 Question Id : 92090616085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eIST 3 e & ot Y § | S-S ST FHUT S fdas R 96 o7
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(1) o&dd A DE
() &4dd B,C,D
(3) @&dd C,D,E
(4 &dd A CD

@ & = e

Options :

92090663553. 1
92090663554. 2
92090663555. 3
92090663556. 4

Question Number : 90 Question Id : 92090616086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are glacial periods of Middle Pleistocene?

(A) Riss
(B) Wurm
(C)  Gunj
(D) Mindel

Choose the correct answer from the options given below :

(1) BandD

(2) Band C

(3) Aand D

(4) Aand C
Options :

92090663557. 1



92090663558. 2
92090663559. 3
92090663560. 4

Question Number : 90 Question Id : 92090616086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 T ¥ SH-51F A dd-Id" HId & U Hed 87
A R

B. T
c
D. fHEw
< feu U fasedt # ¥ Tel IR &1 =904 Fifon

(1) &dd A 3R B
(2) @&dd B3R C
(3) dd ASIRD
(4) dd A3IRC

Options :

92090663557. 1
92090663558. 2
92090663559. 3
92090663560. 4

Question Number : 91 Question Id : 92090616087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the ethnical period defined by L. H. Morgan?
(A) Savagery

(B) Barbarism

(C) Civilization

(D)  Urbanization

(E) Delocalization

Choose the correct answer from the options given below :
(1) C,Dand E

(2) A BandC

(3 A Dand E

(4) Aand C

Options :

92090663561. 1
92090663562. 2
92090663563. 3
92090663564. 4

Question Number : 91 Question Id : 92090616087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9§ ¥ BF-B1 A Sdd-Id- HId & GHl Hed g2
A =

B. T

C. ™

D. fHga

14 AU U fdehedl # 9 Wl IR &1 9 Fifeie -

(1) &dd A3RB
(2) &dd BSRC
(3) &dd ASRD
(4) A A3ARC
Options :

92090663561. 1
92090663562. 2



92090663563. 3
92090663564. 4

Question Number : 92 Question Id : 92090616088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a tribe of Rajasthan?

(1) Bhil (2) Meena
(3) Rabari {4) Gond
Options :

92090663565. 1
92090663566. 2
92090663567. 3
92090663568. 4

Question Number : 92 Question Id : 92090616088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafifEad & ¥ $1F IoRHE $ UF oW T8l 67

(1) Hid ) wom
(3) &EH @) TS
Options :

92090663565. 1
92090663566. 2
92090663567. 3
92090663568. 4

Question Number : 93 Question Id : 92090616089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tribes is a matrilineal society?

(1) Bhil (2) Santhal
(3) Khasi (4) Gond



Options :

92090663569. 1
92090663570. 2
92090663571. 3
92090663572. 4

Question Number : 93 Question Id : 92090616089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g # | &1 bt SFeia te Argasita e g2

(1) i (2) Hurd
(3) @Rt 4) TS
Options :

92090663569. 1
92090663570. 2
92090663571. 3
92090663572. 4

Question Number : 94 Question Id : 92090616090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which article of the Indian Constitution is a safeguard for educational and economic
interests of the weaker sections of the society and, in particular, of the Scheduled
Castes and Scheduled Tribes?

(1) Article 46 (2) Article 21
(3)  Article 48 (4) Article 10
Options :

92090663573. 1
92090663574. 2
92090663575. 3
92090663576. 4

Question Number : 94 Question Id : 92090616090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRATY Hi3u™ 1 F9 & § &1 91 siwbe GUe & SR dadi, [9Y S gfad sfad
9 gfad SAentadl, & A g snfiie fBal & gream dwar a2

(1) 34 46 (2) 3I=8g 21
(3) FI®q 48 (4) 3I%8G 10
Options :

92090663573. 1
92090663574. 2
92090663575. 3
92090663576. 4

Question Number : 95 Question Id : 92090616091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which article of the Indian Constitution is a safeguard for the right to conserve
distinet language, seript or culture?

(1)  Article 350 (2) Article 21
(3)  Article 340 (4) Article 05
Options :

92090663577. 1
92090663578. 2
92090663579. 3
92090663580. 4

Question Number : 95 Question Id : 92090616091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRarg HfauE &1 Fg 3§ &F 91 s wse Ay yme, fft sryar desfa & WRem & Siier
B Y& Bl 87

(1)  3J=< 350 @) Sf=e 21
(3)  3ITa9¢ 340 (4) Sff=8q 5
Options :

92090663577. 1
92090663578. 2
92090663579. 3
92090663580. 4



Question Number : 96 Question Id : 92090616092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The role of Energy was central in the theory given by

(1) Morgan (2) Kroeber
(3) White (4) Tylor
Options :

92090663581. 1
92090663582. 2
92090663583. 3
92090663584. 4

Question Number : 96 Question Id : 92090616092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafofaa 7 9 fhad grR1 v Rigia # ol 31 =T i di?

(1) #AFE 2)
(3) ®Igc (4) <Clgel
Options :

92090663581. 1
92090663582. 2
92090663583. 3
92090663584. 4

Question Number : 97 Question Id : 92090616093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book Argonauts of Western Pacific was written by

(1) Marriot (2) Malinowski
(3) Maine (4) Marton
Options :

92090663585. 1



92090663586. 2
92090663587. 3
92090663588. 4

Question Number : 97 Question Id : 92090616093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“3TATEY 31 d%e URifthe qxde &1 Fy o 9 fewa forar ur?

(1) ARge (2) HAfeEwEs!
(3) WA (4) HIEA
Options :

92090663585. 1
92090663586. 2
92090663587. 3
92090663588. 4

Question Number : 98 Question Id : 92090616094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The twin processes of Universalization and were given by Marriot.
(1) Parochialization (2) Urbanization
(3) Globalization (4) Westernization

Options :

92090663589. 1
92090663590. 2
92090663591. 3
92090663592. 4

Question Number : 98 Question Id : 92090616094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)  Hebouldaresu (2) el
(3)  asftevu (4) i
Options :

92090663589. 1
92090663590. 2
92090663591. 3
92090663592. 4

Question Number : 99 Question Id : 92090616095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many particularly vulnerable tribal groups (PVTGs) are present in India?

(1) 75 (2) 85
(3) 95 (1) 65
Options :

92090663593. 1
92090663594. 2
92090663595. 3
92090663596. 4

Question Number : 99 Question Id : 92090616095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H fobaH fa9y w0 | sRiga s=enfa w5g (dt 4t & o) faemm €7

(1) 15 (2) 85
(3) 95 (4) 65
Options :

92090663593. 1
92090663594. 2
92090663595. 3
92090663596. 4



Question Number : 100 Question Id : 92090616096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ghotul is a type of

(1) Ritual (2) Marriage
(3) Dormitory (4) Economic Exchange
Options :

92090663597. 1
92090663598. 2
92090663599. 3
92090663600. 4

Question Number : 100 Question Id : 92090616096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

died 9 1 3§ fas! UeR 82

(1) HHSIS (2) faare

(3) HHg YEANTR 4) sid® fafng
Options :

92090663597. 1
92090663598. 2
92090663599. 3
92090663600. 4



